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Ibw 1175 sefd vs za and fit dec17-jun18

? Pol I. sefd(az,za) 1175.0 Mhz Sigma(y-yfit): 0.2082 é

£ f(za): 4.40219 +(0.02782)*za +( 0.01751)*(za-14) ~ 2 +( 0.00382) (za-14) ~ 3 =

£ SigCof:za 0.2327 0.0222 0.0591 0.0114 =

0 5 10 15 20
za

Ibw 1300 sefd vs za and fit dec17-jun18

I

Pol |. sefd(az,za) 1300.0 Mhz Sigma(y-yfit): 0.1882
f(za): 3.48175 +(0.03316)*za +( 0.01671)*(za-14) ~2 +( 0.00362)(za-14) ~ 3

SigCof: za 0.2326 0.0222 0.0588 0.0113
0 5 10 15 20
za
Ibw 1375 sefd vs za and fit dec17-jun18
é Pol |. sefd(az,za) 1375.0 Mhz Sigma(y-yfit): 0.1946 é
% f(za): 3.43161 +(0.03843)*za +( 0.02060)*(za-14) ~2 +( 0.00317)(za-14) ~ 3 %
= SigCofza0:2341 00227 0.06410:0126 : ‘ =
0 5 10 15 20
za
Ibw 1415 sefd vs za and fit dec17-jun18
g— Pol |. sefd(az,za) 1415.0 Mhz Sigma(y-yfit): 0.2144 é
é f(za): 3.25848 +(0.03718)*za +( 0.01916)*(za-14) ~2 +( 0.00319)(za-14) ~ 3 E
= SigCof:za 0.1750 0.0164 0.0427 0.0083 E
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Ibw 1550 sefd vs za and fit dec17-jun18

= x X E
= Dokt XX E
é Pol |. sefd(az,za) 1550.0 Mhz Sigma(y-yfit): 0.3131 é
= f(za): 3.17332 +( 0.04070)*za +( 0.02255)*(za-14) ~ 2 +( 0.00184)(za-14) ~ 3 E
=——SigCof: za—0.29760:0278-0.08030:0170 ‘ ‘ =
0 5 10 15 20
za
Ibw 1610 sefd vs za and fit dec17-jun18
T =
g— Pol |. sefd(az,za) 1610.0 Mhz Sigma(y-yfit): 0.2408 é
£ f(za): 3.08779 +(0.03760)*za +( 0.01813)*(za-14) ~ 2 +( 0.00340)(za-14) ~ 3 E
= SigCof:za 0.2688 0.0247 0.0636 0.0125 E
0 5 10 15 20
za
Ibw 1666 sefd vs za and fit dec17-jun18
é Pol |. sefd(az,za) 1666.0 Mhz Sigma(y-yfit): 0.2468 é
= f(za): 3.16614 +(0.02782)*za +( 0.02470)*(za-14) ~ 2 +( 0.00291)(za-14) ~ 3 E
=——SigCof: za—0.2707 0'0252-0.06390:0125 ‘ ‘ =
0 5 10 15 20

za
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Ibw 1155 Mhz sefd fit residuals
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Ibw 1310 Mhz sefd fit residuals
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Ibw 1375 Mhz sefd fit residuals
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Ibw 1550 Mhz sefd fit residuals
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lbw 1415 Mhz sefd fit residuals by src
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